

Subjects and Methods: 1. Development of "Meal Selection" "Meal Selection" was developed by Flash and able to use it on the Web site. Food images are arranged on the table mat on the screen using a mouse. Nutrients intakes are evaluated based on the Dietary Reference Intakes for Japanese (2005 edition). 2. Examination of the validity Subjects were 21 female students of a Japanese university. They filled dietary records of a certain day by their selves and input their dietary record to "Meal Selection" in June, 2009. The same dietary records were calculated by the other nutrition software which appeared on the market and the both results were compared.

Result: 524 kinds of food and dishes are stored as data base in "Meal Selection". Evaluations for amount of nutrition intake of every meal and every day were displayed on the different 5 screens. Average intake energy per day by "Meal Selection" was 1627kcal and by the other nutrition software was 1592kcal. There was no significant difference between above both results by t-test. In other nutrients, there was neither significant difference in average intake per day, nor average intake per every meal.

Consideration: It was found to be effective as the tool that users can easily know their nutrition intakes by "Meal Selection".

FP-015

Cell-Mediated Immunity in Chronic Obstructive Bronchitis and Asthma

Otgon Galsanjav, Tselmeg Tseveendorj
HSUM, Mongolia

Background: The number of the mortality, mobility, and disability caused by respiratory diseases is considered high in Mongolia.

Methods: Studied in 2008, 18-75 years old 74 subjects with chronic obstructive bronchitis and the asthma at the Pulmonology Department, the National Central Hospital. Patients were examined via a questionnaire-based interview, clinical examination, cell immunity counting and spirometry test. Data were analyzed through SPSS program.

Results: In urban area, asthma is more occurred whereas in rural area. For subjects with the chronic obstructive bronchitis, CD4 was normal 73,1%; the level was lower for 19,7% and higher for 7,7%. For subjects with asthma, CD4 was normal 72%; the level was lower for 24% and higher for 4%. For subjects with the chronic obstructive bronchitis, CD8 was normal 73,1%; the level was low for 15,4% and high for 11,5%. For subjects with asthma, CD8 was normal 72%; the level was lower for 8% and higher for 5%. For subjects with the chronic obstructive bronchitis, CD4/CD8 was normal 69,24%; the level was lower for 15,4% and higher for 15,4%. For subjects with asthma, CD4/CD8 was normal 64%; the level was lower for 24% and higher for 12 %.

Conclusion: On the subjects with the chronic obstructive bronchitis and asthma, the amount of CD4 CD8 and CD4/CD8 was interestingly steady.

FP-016

The Influence of Diabetes Shared-Care Program on Patients with Poorly Controlled Type II Diabetes Mellitus

Yen-Yuan Chen¹, Liarnng-Zung Lai², Shih-Chieh Chang², Hui-Yu Tseng², Yu-Chun Tsai²

1. National Taiwan University College of Medicine, Taiwan

2. St. Joseph Hospital, Taiwan

Diabetes mellitus (DM) has become an important public health threat to Taiwan in recent years. About 30% of DM patients in Taiwan are poorly controlled, also known as the value of glycosylated hemoglobin (HbA1C) greater than 9%. Studies showed that the risk of cerebrovascular diseases and myocardial infarction will be reduced by 12%-16% if HbA1C is reduced by 1%. In a single-center, prospective study, 35 poorly controlled type 2 DM patients were enrolled for assessing the influence of using Diabetes Shared-Care Program (DSCP), a DM intervention program to provide frequent interactions between patients and healthcare providers, and multiple educational courses to patients. A structured questionnaire with a five-level Likert scale was used to evaluate the knowledge of DM self care before and after nine-month DSCP was executed. Paired t test was used to compare the before-DSCP with after-DSCP knowledge of DM self care by the questionnaire and HbA1C.

Before DSCP, the mean HbA1C of the 35 patients was 10.08% (S.D.=1.01%). After DSCP, a significant reduction of 0.74% (9.34%±1.28%) in HbA1C was seen. According to the questionnaire, the after-DSCP knowledge of DM self care was 4.06 (±0.44), which is significantly higher than the before-DSCP one (3.67±0.51).

Our study showed that the nine-month DSCP is associated with the significant reduction of HbA1C (p-value=0.006) and the significant increase of the knowledge of DM self care (p-value<0.001). These results demonstrate a significant treatment effect from nine-month DSCP on poorly controlled type 2 DM patients.

FP-017

Comparison of Quality of Life between Patients with Non-Small Cell Lung Cancer and Healthy Subjects

Lukas Lee¹, Chih-Wen Chung¹, Yu-Yin Chang¹, Yung-Chie Lee², Jung-Der Wang¹

1. National Taiwan University, Taiwan

2. National Taiwan University Hospital, Taiwan

Background: Lung cancer is a major cause of mortality with substantial impact on survival and quality of life (QOL). We explored the characteristics and determinants